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JIET 59 4 B OUT IN GR HDCP | NET 3%
Lo g B 5 R 39 38 77
2 | A VE TR FH 44 38 82
3 HE e R 40 42 82
4 | KRB f§ R 5 R 42 41 83
5 | H &E = 9 41 42 83
6 | A B 5 R 40 43 83
TETH O OHEA 5 R 41 43 84
8 | & R e % B 44 41 85
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JERT K 4 )& OUT IN GR HDCP | NET B
1| & i % B 43 42 85 10 75
2 B il 55 B 47 46 93 18 75
3| F R 5 R 44 43 87 12 75
7O VAN NI | =5 £ Al 44 41 85 9 76
5 | B H F1E % B 47 43 90 13 77
6 |k L = HI F b 42 43 85 8 77
T F = Tl [ B 44 43 87 10 77
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JIE Az K 4 g OUT IN GR HDCP | NET %
1| bl By B % B 40 41 81
2 | )i B FH 42 42 84
3| m R E = B 42 42 84
1 |\ R FE FH 43 42 85
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JIEfr 5§ 4 R OUT IN GR HDCP | NET %
1A B B A 5O 42 44 86 14 72
2 | M B EYR %= B 43 44 87 15 72
3| =W M — B RRIR 42 46 88 14 74
4 AR & & KA 42 44 86 12 74
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JIE A7 K 4 B R OUT IN GR HDCP | NET %
1| F & G INEFE 36 40 76
2 | . E Fn TRl [ B 38 40 78
T INEFE 42 42 84
4 | v K JR H] = B 42 42 84
5 | i Wy A R 45 41 86




(7F Fyv=7 - 2y MEi##FE]

JIET 59 4 B OUT IN GR HDCP | NET %
1 | B & IE 8 IINRFH 49 42 91 18 73

2 | B — 5 5 IR 47 46 93 17 76

3| & H OB fl 5 R 45 44 89 12 77

4 B EA INES 48 46 94 17 77

5 | KT B W = B 45 44 89 12 77
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JERT K 4 g OUT IN GR HDCP | NET g%
1| Rl fa AR R 46 42 88
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JERT K 4 g OUT IN GR HDCP | NET g%
1 | FFH AT BJR 49 43 92 18 74
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JIE Az K 4 i OUT IN GR | HDCP | NET %
1| & ¥ o £ T 42 43 85

2 | B HF = B 45 42 87

3| & K& B R 46 44 90
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JIE Az K 4 i OUT IN GR | HDCP | NET %
O IV N /A S B 45 45 90 16 74

2 | & M A F B 45 48 93 16 77

3| Al & * T 50 45 95 11 84
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